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2. Upuwwinwlwqgdh hwuwnhpwgnigwyp b wwownnuwhu npnypwswihbpp’

mucsnuueMr UubduLnruL <UUShLU3
hL

h/h Uhudnne

1 Swidwjlph nGhwdwp 1 292000
2 Swidw)jlph nGlwdwph inbGnwyuw 1 177000
3 Uz fuwwnwywqih pwpwniqup 1-2-1 1 182000
4 | Quunp dwulwqbn ~ 2-3-1 1 177000
9 | Quuynp Gwuliwgbnn  2-3-2 1 177000
6 | wowgwwuwp Gwulwqbin 3-1-1 1 148000
7 | wpwowwup UGwulwgbn 3-1-2 1 148000
8 | wpwunnwp dwulwgqgbn 3-1-3 1 148000
9 | Qpuyupwbwdup 1 72752
10 | Uhwutwpnyd 0.5 60000
11 | Puljuywh 1 1 77000
12 | Puljuywh 2 1 77000
13 | Jwjwpwnwn/gphs 1 72752
14 | <wpnpy 1 134000
15 | Upwlynyph wwh hugupwpup 1 72752
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h/h 1L npwidny/

1 | StopkG 1 172000

2 | 3wjwwwh/qubdwwwh 1 112000
Nwunhwpwy 0.56 86000
Nwuinhwpwy 0.56 86000

S5 | fwuwnmhwpuwy 0.56 86000

6 | Tfwunmhwpwy 0.56 86000
Nwuwnhwpwyh oqGwywh 0.5 68000
Nwunhwpwyh oqbwlywh 0.5 68000
dhayniiin hpwhwbaghs 0.5 68000

10 | Mwnpniuntjg 0.5 68000

11 | unhwpwp 0.75 70000

12 | Odwlnuwy 0.5 70000
pwynp/|ugwpwn

13 | unhwpwph oqlwywa 0.5 70000

14 | ElGYuinphy/hyncub 0.5 44000

15 | Mwhwl ghokpuyht 0.5 44000

16 | Mwhwl ghokpuyht 0.5 44000

17 | Pulwwwh 0.5 44000

18 | Pwlwwuwh 0.5 44000

19 | Pnidwphuwinnny 0.5 68000
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h/h 1L npwidny/
Stonth 1 120000
2 Sw2dwwwh 1 102000
3 | Spwlinnphuwn putdnp 1 72752
4 | Pulynp 72752
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